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GUJARAT TECHNOLOGICAL UNIVERSITY
BPLAN- SEMESTER- 1 EXAMINATION - SUMMER 2016

Subject Code: 1015504 Date: 03/06/2016
Subject Name: Statistical and Quantitative Methods in Planning-I
Time: 02.30PM-04.30PM Total Marks: 50

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
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Fill in the blanks
1) The total value of probability is always
2) The values of variance can be : or
3) The mean is ration of
4) The probability of p(ANB) is
5) The binominal probability distribution glven by
Short questions
1) What is skewness?
2) What is kurtosis?
3) What is open end question?
4) How data are present in statistic?
5) What is poission distribution?

How questionnaire design for collection of data?
List out type of sample and Explain simple random sampling and stratified
sampling.
OR
What is statistical data? How statistical data are collect.

The data of CO emission (in tons) from a commercial zone is classified as
under. Calculate mean and variance of daily CO emissions.

Class 5-9 9-13 | 13-17 | 17-21 | 21-25 | 25-29 | 29-33

Frequency 3 10 14 25 17 9 2

Average house hold income per year and its standard deviation in two cities are
as under. Find out which city has less income disparity?
City | Annual income (Rs.) | Standard Deviation (Rs.)
X 4,50,000 45,000
Y 3,60,000 37,500

OR
Find out co efficient variance from the following data:

Marks | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80

No of 12 18 35 42 50 45 20 8
Students

Explain Mean, Arithmetic mean and Geometric mean.

Explain variation in Time series.
Explain Trend analysis
OR
Consider the data for the number of ships loaded at City-A between 1988 and
1995. Find the equation that describe the secular trend of loading.
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Year |1988 |1989 |1990 |1991 [1992 |1993 |1994 | 1995

Ship 98 105 116 119 135 156 177 208
loaded

Income distribution of individuals in city zone are observed as x =500 and
0 =100 Rs. Find the probability that an individual selected randomly has an
income between Rs. 550-650.

Five defective bolts are accidentally mixed with twenty good one. If four bolts
are drawn at random from this lot find the probability distribution of the
number of defective bolts.
Find the probability of getting a Queen or a spade card from playing card pack.
OR
An urn contains 5 white and 8 black balls. Two successive drawing of three
balls at a time are made such that the balls are not replace before the second
draw. Find the probability that the first draw gives 3 white balls and second
gives 3 black balls?
A bus on particular route departs its original terminus on time with probability
of 0.77. The bus arrives at its destination on time (irrespective of departure
time) with probability of 0.81. Also, the probability that a bus arrives on time,
given that departs on time is 0.91. Find the probability that a bus depart on time
given that it arrives on time.
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